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6. Answer all the questions on the OMR Answer Sheet using only HB Pencil.
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8. Rough work is to be done in the space provided for the purpose in the Question Paper
Booklet only.
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10. No part of the Question Paper Booklet should be detached under any circumstances.

11. The Question Paper Booklet and OMR Answer Sheet should be handed over to the Invigilator
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QUESTIONS A

In a series RLC circuit at resonance, the magnitude of the voltage developed across the capacitor

A) Isalways zero

B) Can never be greater than the input voltage

C) Can be greater than the input voltage, however, it is 90° out of phase with the input voltage
D) Can be greater than the input voltage, and is in phase with the input voltage

Two incandescent light bulbs of 40 W and 60 W rating are connected in series across the mains,
then

A) The bulbs together consume 100 W
B) Thebulbs together consume 50 W
C) The 60 W bulb glows brighter

D) The 40 W bulb glows brighter

A unit step voltage is applied at t = 0 to a serics RL circuit with zero initial conditions

A) Itis possible for the current to be oscillatory
B) The voltage across the resistor att= O is zero
C) The energy stored in the inductor in the steady state is zero

D) Theresistor current eveitually fa 0 E
-

4

Given two coupled inductors L, and L, their mutual inductance M satisfies

2

M M=\L} + L

A passive two port network is in a steady state. Compared to its input, the steady state output can
never offer

A) Highervoltage

B) Lower impedance

C) Greater power

D) Betterregulation

The minimum number of wattmeter(s) required to measure 3-phase, 3-wire balanced or unbalanced

power is
A)1 B)2 C)3 D)4
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11.

A

Consider the star network shown in figure. The resistance between terminals A and B with C open
is 6 ohms, between terminals B and C with A open is 11 ohms and between terminals C and A with
B openis 9ohms. ThenR,, R, R respectively is

Ao

o
A)4,2,5 B)2,4,7 C)3,3,4 D)5,1,10

Avoltage wave form v(t) = 12t* is applied across a 1 H inductor for t > 0. With initial current through
itbeing zero. The current through the inductor for t > 0 is given by

A) 12t B)24t C) 12¢ D) 48

A two port device is defined by the following pair of equations:#=#-2v +v, andi,=v +v,. Its
impedance parameters{z, 57,, z, .7,,) are given by g

A)(zalala 1) B)(la' a'}a )

C) (1119 192) D)(29 '1"191)

The period of the signal x(t) = 8 sin (0.87t + %)is
A) 047 s B) 0.87 s C)1.25s D)2.5s

The switch in the cercuit has been closed for a long time. Itis opened att=0. At t=0", the
current through the 1 micro farad capacitor is '

1Q
AN
t=0 .
L ;49
= pE M
A)0A B) 1A C) 1.25A D) 5A
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15.

A

Asshownin the figure, 1 ohm resistance is connected across a source that has aload line v +i=100.
The current through the resistance is

j
L E—

\% 10
Source I

A)25A B)50A C)100 A D) 200A

The number of chords in the graph of the given circuit will be
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The time constant for the given circuit is
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Assuming ideal elements in the circuit shown, the voltage v, will be
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